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TEES | o | TESEH [RBEKE = [ o | W—r&#H [&B#K25
[EE] EHEEEEE A
4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
LR 1 [HE = wlE X (ETHER + AREE + AWER + MEALER)
0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AER + MALR)
0.186 m3 = 0.600 * 0.310 * (1.000 + 0.000 + 0.000 + 0.000)
e 2 B = WEIE X BEA X (ETHER + /EEE + AEILE + MELER)
0.312 m3 = 0.600 * 0.520 * (1.000 + 0.000 + 0.000 + 0.000)
AL 1R 1 [k = mllE X (ETHEE + RIEE + AREE + HEER)
0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 1 [HE = wlE X (ETHER + AREE + AWER + MEALER)
0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)
HAZIE 1A 2 [l = mEE X (ETHEE + RRERE + RABER + WIER)
0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)
TR R L 1 | = BEIE X B X (ETEE + 2FER + ARER + MELER)
0.186 m3 = 0.600 * 0.310 * (1.000 + 0.000 + 0.000 + 0.000)

kT 2 AKE R




T I % E H E & (8 &8 % )
SRETETEES : 02000000[ H#)%ETE]
| T8 | o | I@EE#M |[AREKE - &S [ o1 | J—+&F |ABHKS
JEFEp & |t 3 L 151 / it 3 =
PEHIHE O R L 2 |FEE = R X A X (ETHER + RER + RIEER + fMEER)
0.168 m3 = 0.600 * 0.280 * (1.000 + 0.000 + 0.000 + 0.000)
B ALy 1 |[FEREEE = WEE X BEAi X (ETIERE + RIEE + RIIEE + MEIER)
(EliEEHEH) 0.030 m3 = 0.600 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000)
o Uy ] 1 [FE = SiERAEUE L=
(Bl EEHEH) 0.030 m3 = 0.030
oy Uy ] 1 |%&E = wHFEE L E
(HEH!) 0.186 m3 = 0.186
o Uy ] 2 |HE = wHIEE &
(HEH) 0.312 m3 = 0.312
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T T & 2 %+ B & (8 & % )
HEtEEEES . 02000000
IiEES | o THEEH |[ABEKE = [ 02 | W—r&#H [#E#K2s
[EE] EHEEEEE A
4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
20.000 m = ((10.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
LR 1 [HE = wlE X (ETHER + AREE + AWER + MEALER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AER + MALR)
3.180 m3 = 0.600 * 0.530 * (10.000 + 0.000 + 0.000 + 0.000)
e 2 B = WEIE X BEA X (ETHER + /EEE + AEILE + MELER)
1. 440 m3 = 0.600 * 0.240 * (10.000 + 0.000 + 0.000 + 0.000)
AL 1R 1 [k = mllE X (ETHEE + RIEE + AREE + HEER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 1 [HE = wlE X (ETHER + AREE + AWER + MEALER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)
HAZIE 1A 2 [l = mEE X (ETHEE + RRERE + RABER + WIER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)
TR R L 1 | = BEIE X B X (ETEE + 2FER + ARER + MELER)
3.180 m3 = 0.600 * 0.530 * (10.000 + 0.000 + 0.000 + 0.000)

kT 2 AKE R




t I % B X R E (HHEE)
SRETETEES : 02000000[ H#)%ETE]
| T8 | o | I@EE#M |[AREKE - &S | 02 | I—+&% [#Esaks
JEFEp & |t 3 L 151 / it 3 =
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIEEE + RIBLEE + fEER)
(2R A1) 0.300 m3 = 0.600 * 0.050 * (10.000 + 0.000 + 0.000 + 0.000)
B ALy 1 |FE = SEEEE e L&
(EliEEHEH) 0.300 m3 = 0.300
o Uy ] 1 |%E = EEISUE LR
(HEH) 3.180 m3 = 3.180
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 1.440 m3 = 1.440
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+T T &% E ft E & (& B % )
RETEEEES . 02000000 L #)&EHE]

TEES | 02 | IEE% |mEAER - rES | o | —tewm |hmEszsEs
JEFE R IEIN il B JL Hl / it B BN
(RSl 1 |[BE = RERWRE - s i

40.000 m2 = 40.000 - 0.000
EEEAEIH 1 |#E = REIREEE - R

40. 000 m2 = 40.000 — 0.000
ik A5 1 [Eh2EiRE AR = OREIRWRE - (s mis) X B4
(GHAEHRH]) 2.000 m3 = (40.000 — 0.000) * 0.050
k455 1 |%kE = MEENEUE LR
SRS 2.000 m3 = 2.000
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T I % E H H & i E Ox )
BEEEEES . 02000000 L H)EEHE]
| THEEE | 2 | IE&% |[BEAER [L—+&E [ 02 [ IL—r&#H [#E#
E] B i m A m S E m sk
FEAE AT H 1 |k = AMEIRER - A
63. 000 m2 = 63. 000 — 0.000
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T T & 2 %+ B & (8 & % )
HEtEEEES . 02000000

TiEES | 03 | THESW [HEES0AERE = [ o | JI—Fr&% [#EWS0AS)

[EE] EHEEEEE A

4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
5.000 m = ((2.500 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000

LR 1 [HE = wlE X (ETHER + AREE + AWER + MEALER)
1.500 m2 = 0.600 * (2.500 + 0.000 + 0.000 + 0.000)

] 1 [ = Wl X B4 X (ETHER + AREE + AER + MALR)
0.810 m3 = 0.600 * 0.540 * (2.500 + 0.000 + 0.000 + 0.000)
e 2 B = (GEEIIRE X Ex - B X (ELERE + WELER) + GBEIIE X B4 X (RIFLE + ARLEER))

0.357 m3 = ((0.600 * 0.240 — 0.001) * (2.500 + 0.000)) + (0.600 * 0.240 * (0.000 + 0.000))

AL 1R 1 [k = mllE X (ETHEE + RIEE + AREE + HEER)
1.500 m2 = 0.600 * (2.500 + 0.000 + 0.000 + 0.000)

BAZIE IR 1 [HE = wlE X (ETHER + AREE + AWER + MEALER)
1.500 m2 = 0.600 * (2.500 + 0.000 + 0.000 + 0.000)

HAZIE 1A 2 [l = mEE X (ETHEE + RRERE + RABER + WIER)
1.500 m2 = 0.600 * (2.500 + 0.000 + 0.000 + 0.000)

TR R L 1 | = BEIE X B X (ETEE + 2FER + ARER + MELER)

0.810 m3 = 0.600 * 0.540 * (2.500 + 0.000 + 0.000 + 0.000)
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T T % E 8 E E (fF B % )
HErEEHEES 02000000
|  TEgs | 03 | TIEEW  [HHEEs0ARME [—+EE [ ot | —r&% _ [BEWSHAS)
JEFEp & |t 3 L 151 / it 3 =
o Uy ] 1 |BEEEE = IR X BEAa X (TR + {EERE + TR + MEIER)
(Bl EEHEH) 0.075 m3 = 0.600 * 0.050 * (2.500 + 0.000 + 0.000 + 0.000)
B ALy 1 R = BEEIEHIE LS LR
(EliEEHEH) 0.075 m3 = 0.075
o Uy ] 1 |FE = wHEIELE
(HEH) 0.810 m3 = 0.810
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 0.357 m3 = 0.357
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